| Efficiency vs Dxy |

0.2
<

) S S

.(D - H H H H
K e A A
© o : : : :
O e S A 1
e | =
008+t L

S : : : : :
) S S
> S

..................................

oof g
o

...........................

002 it L L

OL.\@_IIII;Illl;llll;llll;l 1 l II;IIII;IIII;IIII;IIII

Rati

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFit10000__RECO

| Efficiency vs Dz |

—— DQM_V0001_R000000001__Global__mkFit1000__RECO

N 0.1
© : : : : :
D09t e o S
> . . . . .

Q - : : : : :
.@'08: : : : : :
Q r : H H . .
.07 P el AR AR
O o : : : : :

R T
.

o
=
0'02%_ﬁﬁfﬁﬁﬁf§ﬁﬁﬁfﬁﬁﬁff;ﬁff.ﬁf.?ff’_{fgffﬁfff@fffﬁf

0.01
o+

10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


